Right triangle trigonometry involves

Angles in Standard Position:
angles with the following measures:

Vertex is at the origin and one ray

is on the positive x-axis.
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The unit circle is used to find the exact|value
for Sin6 and Cos6 using the special right triangles.

So all the angles on the unit circle are related
to either 30°, 60°, or 45°
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fill in all the angles in degrees

Fill in the coordinates
on the axes.

Since this is the Unit Circle
the radius is 1 and

the points on the axes

are just 1 unit right, up,
left, and down from the
origin.



